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Chemistry Worksheet Name ‘
Amonton s Law and Avogadro’s Law + e Hour Date

1L A steel cyhnder is left out 1n the sun all day. At 2:00 P.M., the pressure of the '3 WM’ _—
cylinder was "1014 kPa at 33.0° C. What was the pressure at 7:00 AM. when Arrarct
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2. A rigid can of Neon has a pressure of 2. 00 Atm. at20.0° C. I the can is opened et
to atmospheric pressure (1 00 atm ), what happens to the temperature of the neon? L;ﬁ:lw mw‘.ﬂ;;&
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3. A balloon has 38.2 g of H, gas at a volume of 428L What is the voluse of | Aoenaiti

the gas if 10.0 gisleftout. = 23, 2 = ~45
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4, How many molés of N2 gas will you haveLfZOOmoles was placed ma385mL VAS @ et \
balloon and the volume was increased to 750.0 mL.: V5 - 2=l
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5. Calculate the pressure of a gas that occupies a volume of 125 mL, if"at a pressure | 2 "

’ of 9%0 kPa, it occupies a volume of 219 mL. [;;;th
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6. If a gas occuples a volume of 733 mL at 10.0°C, at what temperature in°C, T
- will it occupy a volume of 1225 mL if the pressure remains constant. ——— ; ks [ﬁﬁ
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